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,Q�WKH�IDFH�RI�LQFUHDVLQJ�RUJDQL]DWLRQDO�FKDOOHQJHV�LQ�WKH�IRUP�RI�H[SDQGLQJ�ZRUN�DUHDV�DQG�WR�JXDUDQWHH�WKH�
DFKLHYHPHQW�RI�RUJDQL]DWLRQDO�JRDOV��+XPDQ�5HVRXUFHV��+5��DUH�YHU\�LPSRUWDQW�RUJDQL]DWLRQDO�FRPSDQ\�DVVHWV��
:KDW�LV�WKH�TXDOLW\�RI�KXPDQ�UHVRXUFHV�DQG�LQ�WKH�TXDQWLW\��TXDQWLW\��RI�DQ�RUJDQL]DWLRQ�FRPSDQ\�WKDW�KDV�WR�
UHFUXLW�DQG�HPSOR\�LW��LW�LV�QHFHVVDU\�WR�KDYH�D�JRRG�+5�SODQQLQJ�V\VWHP��+5�SODQQLQJ�LV�DQ�HIIRUW�WR�3URMHFW
KRZ�PDQ\�HPSOR\HHV�DQG�ZKDW�NLQG�RI�RUJDQL]DWLRQ�LV�QHHGHG�LQ�WKH�IXWXUH��$OO�RUJDQL]DWLRQV�FRPSDQLHV�PXVW�
GHWHUPLQH�WKHLU�IXWXUH�ZLWK�YDULRXV�SODQV�WKDW�DUH�UHOHYDQW�WR�WKH�GHPDQGV�RI�WKH�WLPHV��,Q�WKLV�HUD��WKH�IXWXUH�LV�
YHU\�GLIILFXOW� WR�SUHGLFW�EHFDXVH� WKH�FKDQJHV� WKDW�RFFXU�DUH�YHU\�IDVW�DQG�PDVVLYH�� ,Q�D�FRPSHWLWLYH�EXVLQHVV�
HQYLURQPHQW��WKH�OLIH�RI�D�EXVLQHVV�RUJDQL]DWLRQ�LV�UHTXLUHG�WR�FRQWLQXH�WR�PRYH�DORQJ�WKH�UDSLG�DQG�PDVVLYH�IORZ�
RI�FKDQJH��7KH�VZLIW�IORZ�RI�FKDQJH�KDV�ORJLFDO�FRQVHTXHQFHV�IRU�FRPSDQLHV�WR�DOZD\V�DQWLFLSDWH�DQG�PXVW�EH�
DEOH�WR�DGMXVW�WR�WKH�FKDQJHV�WKDW�RFFXU��,Q�WKLV�FRQWH[W��+5�SODQQLQJ�ZLOO�EHFRPH�PRUH�LPSRUWDQW�IRU�FRPSDQLHV�
EHFDXVH�RI�JOREDOL]DWLRQ��QHZ�WHFKQRORJ\�DQG�RUJDQL]DWLRQDO�UHVWUXFWXULQJ�SURFHVVHV�WKDW�DOZD\V�RYHUVKDGRZ�
RUJDQL]DWLRQDO�OLIH��2UJDQL]DWLRQV�WKDW�DUH�QRW�VXSSRUWHG�E\�HPSOR\HHV�WKDW�DUH�VXLWDEOH�ERWK�IURP�WKH�DVSHFW�RI�
TXDQWLW\��TXDOLW\��VWUDWHJ\��DQG�JRRG�RSHUDWLRQV��LW�FDQ�EH�DVFHUWDLQHG�WKDW�WKH�RUJDQL]DWLRQ�ZLOO�EH�GLIILFXOW�WR�
PDLQWDLQ�DQG�GHYHORS�LWV�H[LVWHQFH�LQ�WKH�IXWXUH��6R�WKDW�WKH�LPSOHPHQWDWLRQ�RI�+5�SODQQLQJ�FDQ�EH�VXFFHVVIXO��
WKHUH� DUH� DW� OHDVW� IRXU� DVSHFWV�� +5� SODQQLQJ� WKDW� PXVW� EH� FRQVLGHUHG�FDUULHG� RXW�� QDPHO\�� ���� KRZ� PDQ\�
3URMHFWLRQV�DUH�WKH�QXPEHU�RI�HPSOR\HHV�QHHGHG��IRUHFDVWLQJ�RI�HPSOR\HHV�������LGHQWLI\LQJ�DYDLODEOH�+5�LQ�WKH�
RUJDQL]DWLRQ��KXPDQ�UHVRXUFH�DXGLW�������DQDO\]LQJ�VXSSO\�DQG�GHPDQG�EDODQFH��GHPDQG�DQG�VXSSO\�DQDO\VLV���
����UXQQLQJ�DQ�DFWLRQ�SURJUDP��

.H\ZRUGV��+5�SODQQLQJ��RUJDQL]DWLRQ��
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'DODP�PHQJKDGDSL� WDQWDQJDQ�RUJDQLVDVL�\DQJ�VHPDNLQ�PHQLQJNDW�EHUXSD�SHUOXDVDQ�ZLOD\DK�NHUMD�GDQ�XQWXN�
PHQMDPLQ� WHUFDSDLQ\D� WXMXDQ� RUJDQLVDVL� PDND� 6XPEHU� 'D\D� 0DQXVLD� �6'0�� PHUXSDNDQ� DVHW�
RUJDQLVDVL�SHUXVDKDDQ�\DQJ�VDQJDW�SHQWLQJ��.XDOLWDV�6'0�\DQJ�VHSHUWL�DSD�GDQ�GDODP�MXPODK��NXDQWLWDV��EHUDSD�
VXDWX� RUJDQLVDVL�SHUXVDKDDQ�KDUXV�PHUHNUXW�GDQ�PHPSHNHUMDNDQQ\D��PDND�SHUOX� DGDQ\D� VLVWHP�SHUHQFDQDDQ�
6'0�\DQJ�EDLN��3HUHQFDQDDQ�6'0�PHUXSDNDQ�XSD\D�PHPSUR\HNVLNDQ�EHUDSD�EDQ\DN�NDU\DZDQ�GDQ�EDJDLPDQD�
NDU\DZDQ� \DQJ� GLEXWXKNDQ� RUJDQLVDVL� GLPDVD� \DQJ� DNDQ� GDWDQJ�� 6HPXD� RUJDQLVDVL�SHUXVDKDDQ� KDUXV�
PHQHQWXNDQ�PDVD�GHSDQQ\D�GHQJDQ�EHUEDJDL� UHQFDQD�\DQJ� UHOHYDQ�GHQJDQ� WXQWXWDQ� MDPDQ��3DGD�HUD� VHSHUWL�
VHNDUDQJ�LQL��PDVD�GHSDQ�VDQJDW�VXNDU�GLSUHGLNVL�NDUHQD�SHUXEDKDQ�\DQJ�WHUMDGL�VDQJDW�FHSDW�GDQ�PDVLI��'DODP�
NRQGLVL�OLQJNXQJQ�ELVQLV�\DQJ�NRPSHWLWLI��NHKLGXSDQ�RUJDQLVDVL�ELVQLV�GLWXQWXW�XQWXN�WHUXV�EHUJHUDN�PHQJLNXWL�
DUXV� SHUXEDKDQ� \DQJ� VDQJDW� FHSDW� GDQ� PDVLI�� 'HUDVQ\D� DUXV� SHUXEDKDQ� PHPEDZD� NRQVHNXHQVL� ORJLV� EDJL�
SHUXVDKDDQ�XQWXN�VHODOX�PHQJDQWLVLSDVL�GDQ�KDUXV�PDPSX�PHQ\HVXDLNDQ�GHQJDQ�SHUXEDKDQ�\DQJ�WHUMDGL��'DODP�
NRQWHNV�LQL��SHUHQFDQDDQ�6'0�DNDQ�PHQMDGL�OHELK�SHQWLQJ�EDJL�SHUXVDKDDQ�NDUHQD�JOREDOLVDVL��WHNQRORJL�EDUX�
GDQ�SURVHV�UHVWUXNWXULVDVL�RUJDQLVDVL�VHODOX�PHPED\DQJL�NHKLGXSDQ�RUJDQLVDVL��2UJDQLVDVL�\DQJ�WLGDN�GLGXNXQJ�
NDU\DZDQ� \DQJ� VHVXDL� EDLN� GDUL� DVSHN� NXDQWLWDV�� NXDOLWDV�� VWUDWHJL�� GDQ� RSHUDVLRQDO� \DQJ� EDLN�� PDND� GDSDW�
GLSDVWLNDQ�RUJDQLVDVL�WHUVHEXW�DNDQ�VXOLW�PHPSHUWDKDQNDQ�GDQ�PHQJHPEDQJNDQ�HNVLVWHQVLQ\D�GLPDVD�\DQJ�DNDQ�
GDWDQJ��$JDU�GDODP�SHODNVDQDDQ�SHUHQFDQDDQ�6'0�ELVD�EHUKDVLO��VHGLNLWQ\D�WHUGDSDW�HPSDW�DVSHN�SHUHQFDQDDQ�
6'0� \DQJ� KDUXV� GLSHUKDWLNDQ�GLODNXNDQ� \DLWX�� ���� EHUDSD� SUR\HNVL� MXPODK� NDU\DZDQ� \DQJ� GLEXWXKNDQ�
�IRUHFDVWLQJ�RI�HPSOR\HHV�������PHODNXNDQ�LGHQWLILNDVL�6'0�\DQJ�WHUVHGLD�GDODP�RUJDQLVDVL��KXPDQ�UHVRXUFH�
DXGLW��� ����PHODNXNDQ� DQDOLVLV� NHVHLPEDQJDQ� SHQDZDUDQ� GDQ� SHUPLQWDDQ� �GHPDQG� DQG� VXSOD\� DQDO\VLV��� ����
PHQMDODQNDQ�SURJUDP�DNVL��DFWLRQ�SURJUDP����

.DWD�NXQFL��SHUHQFDQDDQ�6'0��RUJDQLVDVL��


